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27 = 3 Peter begins walking home at quarter past 3. It

- - — [takgs him 35 minutes. Whgtti.me‘does he] .
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Jamie begins his test at 8.09. He completes it
in 42 minutes. What time is he finished? Write

the time in analdgub and qii.gi,t]?al. L{.
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1 metre = 67cm + 7
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Lucy p

nones her mum every evening. Usually
she phones at 7.30pm. On this evening she is
[2 ] .3 . | [ I | l. | | ﬂ E |
24 munutes delayed in making her phone call.
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Miss O’Reilly begins planning Literacy at 9.56.
It takes her 2 hours and 17 minutes. What
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A Iorry dnver begms his deliveries at 10.21. He

finished them at 12.55. How Iong did they
akp?




